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compulsory and carry 01 mark each. There is not negative marking.

WY T H 100 TEfoehedt qeA €1 weft yeA eifrard € 9 yeke UeH 01 S 1 B Teld 3w
% fou sid T &1 S|

2. Each question has four alternative responses marked (A), (B), (C) and (D). You
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Name of extremely effective fire extinguishing agent is
A. helium

B. halon

C. halogens

D. argon

3T UHT AP AT TUsic &1 AT g
A. giferas
B. &clicl
C. gollald
D. 3T

Gas molecules that absorb thermal infrared radiation and are present in large
quantity to change climate system are known as

A. alpha radiations

B. beta radiations

C. ozone gases

D. greenhouse gases

e & 3191 S gte SwpRe fafetor @ sl ea € 3R Steraryg el
gl & forw g AT A Al @ ©

A. 31eWT fafeRior

B. dier 3rewr fafeor

C. 3o 9

D. fe3d A

Chemical substance used in industry for cold cleaning, is known as
A. methyl chloroform

B. carbon tetrachloride

C. halons

D. hydrocarbons

fia FFe & fow sar & s Taafas uqrd & ® #F ST A @
A. TRUTSST FARIBIH

B. BT ¢CTFARISS

C. galig

DR ESEIRGEs|

Layer of atmosphere in which Ozone layer lies is
exosphere

mesosphere

troposphere

stratosphere

Cawp
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araTeRoT T W Togd 3T wa Afed
A. afgasae
B. HrEEhRR
C. &1H HAeT

D. AT Al

5. Greenhouse gases which is present in very high quantity is
A. propane
B. ethane
C. carbon dioxide
D. methane

daesa R S gga 3 amm # Agg &
A. WU
B. Tda
C. PIIASSIFATSS
D. A=A

6. Exchange of outgoing and incoming radiations that keeps Earth warm is known as
A. greenhouse effect
B. radiation effect
C. infrared effect

D. ozone layer depletion
JeR Adea 3R 3 arel fafwot & see-uee S gedt @ 99 [@ar §, & w9
H ST ST §

A. TTETSH JHTT

B. fafeptor gama

C. 3AdIh YHTT

D. 3Tl U Y ehall

7. Wavelength of infrared radiations is
A. zero
B. finite
C. shorter
D. longer

ateh fafepeont dr aor S g
A T
B. aRfdd
C. A
D. o A dh
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8. Montreal protocol to reduce production of chlorofluorocarbons was assigned in

A. 1985
B. 1986
C. 1987
D. 1982

FARTFARIBITA o ScUTGed Pl Bl BIA & [T FAlfecTel Uleihbiel &l dhd TIUT AT

AT

1985

1986

1987

1982

mber of atoms in o0zone molecules are

SCawp

9.N

=

oNwp
—_— N W N

S 303 # GHATUST dhr HEAT ©
A 2
B.
C.
D.
10. L
A. ozone layer
B. alpha layer

C. gamma layer
D. infrared layer

Wd S Shae & gdl RAfol & efaere gamdl @ gardt &, $ A ST S ®

A. 30 T
B. 3TcW WRd
C. AT IR

D. 37a=h U

11. Wavelength of ultraviolet radiations is
A. shorter
B. longer
C. zero
D. finite

TRIITAT TAfRRoT hr a3or e §|
A. &H
B. 3%
C. e
D. uRfda
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12. Lower energy level and longer wavelengths are features of
A. ultraviolet radiation
B. infrared radiation
C. beta radiation
D. alpha radiation

e Fal TR IR dd Rty 6 faduar g
A. GfaTeT farfeRoT
B. 37a’wh faferor
C. drer fafesor
D. 37T fafeRoT

13. Most serious group of chemicals emitted in British Columbia that causes depletion of
ozone layer are
A. noble gases
B. halons
C. halogens
D. helium

fafer arefear & scafoia al &1 a8 78R FaE S 3ed Wa &I wAT Fr
BROT &

A. 3TTeel I

B. golid

C. gollald

D. €ferad

14. Height of ozone above surface of Earth is
A. 15to 50 km
B. 15to 20 km
C. 15to 30 km
D. 15to 70 km

gdl i Ide d W Al & 5a18 g
A. 158 50 TepaT
B. 15 & 20 feraT
C. 159 30 feratt
D. 15 @ 70 fopair

15. Name of protocol signed to reduce production of chlorofluorocarbons is
UVB protocol

Montreal Protocol

UVA protocol

UVR protocol

Cnowp
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FARITFARIDBIIA & ScUIG DI HH PA & [T FEATEIRA YIctepiel & AH g
A. g Hietehict

B. Affccae Ueiadlel

C. gdw yictehier

D. UVR Wieiehiel

16. Higher energy level and shorter wavelengths are features of
A. beta radiation
B. alpha radiation
C. ultraviolet radiation
D. infrared radiation

3T Soll TR 3R B aior &5 A faudm €
a. dreT fafeRIor
b. 3rethT fafeRoT
C. URTaTeT fafepIor
d. 31 fafeRvor

17. Chemical released by chlorofluorocarbons is
A. nitrogen
B. Sulphuric acid
C. chlorine
D. sodium chloride

FARIFARIPEA GRT BIST IAT IAIA &
CIGIEHEG

b. HewgReh ulas

c. FARIT

d. A3 TH FRSS

18. Methyl chloroform, carbon tetrachloride, hydro fluorocarbons and
chlorofluorocarbons are mainly known as
A. mesosphere building substances
B. troposphere building substances
C. ozone building substances
D. ozone depleting substances

fRorger R, ®ITT FARTES, 2 FARIGEA IR FARIFARIBIET LT T A
STl ST

a. AAEHIRR fAATOT ugre

b. &18T FHzel AHATOT Uere

c. 3irai AT uerey

d. 3TSieT &TIHRY uery
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19. When chlorofluorocarbons are released in atmosphere, chlorine chemical destroys the
A. beta molecules
B. helium molecules
C. argon molecules
D. ozone molecules

I FARIFARIDPIEA TTATEROT F DS AT &, o TR IS T & SAar g
A. dier 3107
B. ferara o 319
C. 3t 3197
D. 3l 319]

20. Colour of ozone molecule is
A. blue
B. white
C. pale yellow
D. pale green

3NN 3707 T 9T
A. SrerT
B. d%hg,
C. Uet Urerm
D. drelt &Y

21. One which is not considered as naturally occurring greenhouse gas is
A. carbon dioxide
B. methane
C. nitrous oxide
D. ethane

e 50 upfas &0 @ MNaesa 39 & &0 F A€ AT ST g
A. P SSATFATSS

B. #Aa

C. AT5¢H AHTFATSs

D. 394

22. Burning of fossil fuels
decrease greenhouse gases
increases greenhouse gases
increased level of oxygen
increased level of ethane

COow»
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SATRA SUA BT STeleT]
A. {ieTersd It A welt
B. SMaersa it o aardr &
C. 3TeFEYSTe &1 E T

D. T T TR dal

23. Annual ozone hole is located on continent
A. Antarctica
B. South America
C. North America
D. Africa

Ty 3ol B¢ Awgiy X g §
A. 37eTdhfeaT

B. T80T 1A

C. A AT

D. 31hYepT

24. Chemical group 'Halons' are emitted in
A. Montreal
B. Iceland
C. British Columbia
D. Greenland

TaRIfAS TIE 'goled ' H Scdtold 8ld ©
A. AffeeTer
B. 35S
C. fafeer drafaar
D. MeTelz

25. Study of current and past landscapes formation is known as
A. morphology
B. aero logy
C. geomorphology
D. biology

gaATT 3R o uREeT & e & 3eTIT &b TT H FAT AT &
A. 3rpla o=
B. TIITSi
C. §-31pid Ta<re
D. Sira fa=ir
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26. Which is layer of ice covering an extensive tract of land for a long period of time?
A. glacier erosions
B. ice cap
C. ice sheet
D. ice field

od AT dh {H Y Th <IUSG TY Bl Thad dlell I HI W T &2
A. TR &1 deta

B. ¥% &1 SIdY

C. 9% & Ae

D. T &r der=

27. Average salinity or ratio of salt as per kilogram of water of ocean is
A. 35 grams
B. 38 grams
C. 32 grams
D. 34 grams

TG & U FRellamd Urell & AR dHeDh & 3HT Faurar a1 3Hquid & T &
ufd Recliana ol & 31gaR dHAd & AT STaurdr A1 g &

A. 35 aTH

B. 38 ATH

C. 32 I1H

D. 34 A

28 Earth's largest ice volume is present in
A. Himalayas
B. South America
C. Antarctica
D. North America

q%ﬁ%rmaﬁrwzﬁrmﬁm%

A  feaTeT

B. &f&iur AR
C. 3icrhicar

D. 3ad AR

29. Sum of all ecosystems is classified as
aero sphere

ionosphere

biosphere

COow»

ozonosphere
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g uikfEAfas T3t & AT A goffepa fopam = §
A. argHSS

B. 3AHSH

C. Sha#sd

D. SIARFHRIR

30. On Earth, portion of upper mantle and crust are together known as its
A. biosphere
B. lithosphere
C. hydrosphere
D. ecosphere

gt I, 50 Fed HR dee & R/REQ & Th AT 50F AH T AT AT §
A. Shadsd
B. fardFhRy
C. s
D. gRda

31. Earth's most snow covered area (SCA) is located in
A. Western Hemisphere
B. Eastern Hemisphere
C. Southern Hemisphere
D. Northern Hemisphere

gl &1 Had 31fUe ah @ a1 &7 (SCA) rud ®
A. afRrE Mend

B. gdf aiems

C. il aMend

D. 3 ey

32. Pedosphere is sum of
A. organisms
B. soil and water
C. air
D. all ofabove

USIEhIIR &l 19T &
A. Sirar

B. fAcdr 3R U
C. gar

D. 3Uh HHT
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33. Layer which exists at interface of hydrosphere, lithosphere and biosphere is known as
A. pedosphere
B. lithosphere
C. hydrosphere
D. cryosphere

R S TS, TTAFHSA 3R SNaHASHT & 0T A Al & b §T A ST AT &
A. 03I
B. TUIHSA
C. s
D. ShIRIEHIR

34. Ice mass of land area is classified as
A. ice sheet
B. ice field
C. glacier erosions
D. ice cap

HF 81T & a% g @ gofipd fopar I §
A. 6 & e
B. @ &t
C. TR &I Herd
D. 338 &g

3S. Life created from non-living matter is classified as
A. microbial life
B. biogenic
C. biogenesis
D. biopoiesis

fastta uerdy @ Affa Shaa & aefipa forar o= &
A. g&H Slad
B. IrSA®
C. Sidsidd
D. aramaefid

36. Cryosphere' plays an important role in
A. global climate
B. global warming
C. greenhouse effect
D. global space

S-117/FES-(B)-10 12



PIRIEHRR 'H Teh Agcaqul HfAGT AHar &

A. A6 STerarg
B. olidel arfatar

C. Mgz gHTd
D. df¥e Ta=

37. High-latitude region which is covered in ice is classified as
A. polar ice fields
B. polar ice sheets
C. polar ice caps
D. polar ice fields

3T 38T &1F Sl % H TN oIl &, Pl ddiiepd fohdT ST &

A. gdg g% & @d
B. g ath T ared
C. Ydrg a%h & Afn
D. 4T 9% & Wd

38. Retreat of cryosphere features is known as
A. transpiration
B. deglaciation
C. evaporation
D. precipitation
PRIEHIIY TAATA3T A 9IS gl & &T H ST ST &
A. arsOicHST
B. Tafgdees
C. arsdieror
D. agor

39. Term 'Biosphere' was introduced by geologist
Eduard Sues

Charles Darwin

Matthew Maury

Arthur Tinsley

HASAAD GRT e TIRAEHIT Y YT Hr 778 A
A. Tg3TE gu
B. dred fda
C. g Y
D. 3T Rawa

Cawp
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40. The multi-crore project about the Ganga Action Plan came
A. 1905
B. 1955
C. 1985
D. 1995.
TN TR Tollel & aR el TRATSTT 3
A. 1905
B. 1955
C. 1985

D. 1995
41. The Ganga runs from Gangotri through a hundred towns and cities in

A. Uttar Pradesh and Bihar

B. Uttar Pradesh, Bihar and West Bengal
C. Uttar Pradesh

D. Uttar Pradesh, West Bengal and Haryana

T I & @ ARt 3R et g Apera #
A. TR TS AT TIER
B. 3R el [AeR aur gf¥ia darer
C. 3uX el

D. 3a US, UTRIHA Mol dAT &RAToT

42. Water pollution can be identified by testing its
A. P"level
B. Biological Oxygen Demand (BOD)
C. Both (a) and (b)
D. None of'these.

zqdh GI8T0T & STl UG WUT Pl Ugdld &l T Thell &
A P'ERR
B. Sifde ittt &r Ffal
C. A3R B gl
D. 58 @ HI$ A
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43. The three R’s to save the environment are
A. Reserve, Reduce, Recycle
B. Reuse, Reserve, Reduce
C. Reserve, Reuse, Reduce

D. Reduce, Recycle, Reuse.
JITaROT & g1 & v i 3’ &

A. e, &a, JaTed

B. Qe: 3UANT, IRFETA AT, el el

C. Rad, qa: 3uANT, A

D. &d &, JA™D B, Ye: YA Pl

44. Why should we conserve biodiversity? Because
A. We should preserve the biodiversity we have inherited

B. A loss of diversity may lead to a loss of ecological stability
C. Both (a) and (b)
D. None of the above.

A g fafagdr &1 TReTor = aar afeu
A. & forad & el Sta Rafayar @1 @3f@a & aifee
B. fafaudr & Jepara @ aikiEufdes [ERar o1 Jhdr & dadr &
C. AR Bkt
D. 31 & PI5 AW

45. The problems for criticism about large dams are that they

A. Displace large number of peasants and trebles without proper rehabilitation

B. Swallow up huge amounts of public money without the generation of proportionate
benefits

C. Contribute enormously to deforestation and the loss of biological diversity
D. All of the above.
g a1l &b g H TelAT & fov gAE I & 6 9

A. 37T gaaTE & foar a8 dear # fearal 3R Rearat B i aar
B. 3gUIides oAl &1 N & 9 ardaifaes g &1 gy Am=r o Aerer o
C. gdl &1 wers R Afae fafaudr & Frarea d AR A=

D. 30X & HHI
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46. The concept of ‘Biosphere Reserve’ was evolved by
A. Government of India.
B. Botanical Survey of India
C. UNESCO
D. UNDP.

qRIEHRRR Rerd & rauron grr i frar arar o
A. AT TIPR
B. AIRA & aaTufa Tdefor
C. &l
D. Juasdr

47. Chipko Andolan is concerned with
A. Conservation of natural resources
B. Development of new breeds of forest plants
C. Zoological survey of India
D. Forest conservation.

RIger 3MEIda &1 JdY &
A. UTpideh HHTUAT T HI&T0T
B. g dlidl &7 % FFa & A
C. ARA &1 groft dayor
D. I E&T0T

48. Measure of biodiversity of an area is
A. The number of species found there
B. The range of different life forms
C. Both (a) and (b)
D. None of these.

fopdy &3 & St Afaaar & AT &
A. IE OIS ST dtell Yelifaal 61 @ean
B. faffe= Shaa s & e
C. A3R BgEr
D. 598 @ A5 A
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49. Primary source of water is
A. Rivers
B. Ground water
C. Lakes
D. Rain water.

arelt 1 UTATdS AT ¥
A. afezt
B. {5Tel
C. sfrat
D. auT &l Tt

50. The Chipko movement started from:

A. Reni in Garhwal
B. Arborio forest
C. Khejrali village
D. None of these.

fRIge! 3rcTer $r qHTT Bel g
A. TTgarel &
B. 3&dRAT Siorer
C. GoRTell IMa

D. 39 & PI5 el

51. Amirata Devi Bishnoi scarified her life to the protection of

(a) Sal trees

(b) Pine trees

(c) khejri trees

(d) Alpine meadows

3 S IS a 3ua Sfaa & 8 & fow 3uar afeea e

A. |l &l U3
B. GdeR @1 U
C. Gidl & Us
D. 3eurs g & Ao

S-117/FES-(B)-10
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52. Water harvesting is an age-old concept in India. Various methods are used in
different regions of India. Khadins water harvesting method is used in
A. Rajasthan
B. Maharashtra
C. Bihar
D. Uttar Pradesh

ARA # arex SR Th gEIaTAqT &l IHTURON & 9RA & fAffea et & Rdffea
it &1 suaer foear Sar €1 @ifea S Faaa At &1 sudier foear Jar €
A. TSTEATH
B. HERTE

C.faer
D.3aX el

53. When combustion of coal takes place in insufficient air (oxygen) which gas is formed .
Instead of carbon dioxide
A. Sulphur dioxide

B. Nitrous oxide
C. Carbon monoxide
D. Nitrogen peroxide

ST PIIS DT Ggd IJUATH I H @1 & ST I TAA B P SBHFASS P Gl
A. oWl SBHFAES

B. AT3cH AFATSS
C. PEId AABNFIRES
D. dArscield WRiadrss

54. Which of the following is an air pollutant?
A. Nitrogen

B. Carbon dioxide

C. Carbon monooxide

D. Oxygen
fAFafaf@a & @ ®i9 a1g ugus
A ATECST
B. NI SB3TAES
C. I AANTFARES
D. 3iferded
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55. Which of the following is a secondary air pollutant?

(a) Ozone

(b) Carbon dioxide

(c) Carbon monooxide
(d) Sulphur dioxide

T & @ pla @1 Tdaed uque &
A. 3
B. P SS3iFATSS
C. B AANFASS

D. HoW 3I33dATSs

56. The environmental lapse rate is found to be:

A. —6.5°C/km
B. 8.6°C/km
C. 6.5°C/km
D. 5.6°C/km
JATEROMT b &3 U1$ ST &
A. -6.5°C/km
B. 8.6°C/km
C. 6.5°C/km
D. 5.6° C/km
57. During Inversion:
A. Temperature increases with altitude
B. Temperature decreases with altitude
C. Temperature remains constant
D.

None of the above

3eIcT A &b aNI
A. 318 & Y dUAT d&dT ©
B. 341 & HIY dUHATH Tedl AT &
C. duHAT &R &dT &

D. a1 & dIs A
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58. Among the following, the only secondary pollutant is:
A. Sulphur tetraoxide
B. Sulphur dioxide
C. Ozone
D. Sulphur tetraoxide

fAFafaf@d # & dhad ET Uqus §
A. T CCI3TFATSS

B. TeWhI SSATFATSS
C. 3

D. TeW CCI3TFATSS

59. Which of the following groups of plants can be used as indicators of SO pollution of
air?

A. Epiphytic lichens
B. Ferns
C. Liver worts

D. Horn worts
arg & UGNUT & Hhdd & ® # dial & Aeafaf@d deag # @ g sudwer fear
ST HehT &

A. TRUGRAEH orgdhed

B. el

C. aflax I

D. &Y

60. Which of the following on inhalation dissolved in the blood hemoglobin more rapidly
than oxygen?

A. Sulphur dioxide

B. Carbon mono-oxide
C. Ozone

D. Nitrous oxide

fFT d @ Pl G SAeeR T A FATAaT A rfiaa A Jorar # 31fQs ash |
gl ST &

A. ToT SBHFASS

B. &I AAIATFASS

C. 3o

D. ATScH ATFATSS
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61. Smog is:
A. A natural phenomenon
B. A combination of smoke and fog
C. Is colourless
D. All of the above

THIT %':
A. T UTpldeh Tl
B.gU 3R ®IeY &1 Aol
C. W &
D. 30 {fY
62. The major photochemical oxidant is:
A. Ozone
B. Hydrogen peroxide

C. Nitrogen oxides
D. Peroxyl Acetyl Nitrate (PAN)

UAE BICIh{dchel RIS ¢
A. 3Sl
B. gT33lold WRIFATSS

C.dArselald 3iaarss

D. Rifdrae tRieEa aBee (U)

63. Which of the following are likely to be present in photochemical smog?
A. Sulphur dioxide
B. Photochemical oxidants
C. Chlorofluorocarbon
D. Smog

farafafad & & dla a1 wreihfAed TAlT 7 FAlgg g & THEr §2
A. ToHl SBHFARS
B. BIEIhiAGd aHSe
C. FARIFART PIEA
D. T

64. Which of the following devices is suitable for the removal of gaseous pollutants?
A. Cyclone separator
B. Electrostatic precipitator
C. Fabric filter
D. Wet scrubber
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fFT # @ Sl @1 U1 T UGl Dl ged & folv 3ugeh &2
A. Ihard TaHTSTH

B. SodciEefecsd MiTueex
C. %fge e

D. Iffem EhaT

65. Autumn colouration of leaves appears only in
A. Tropical regions
B. Evergreen plants
C. Deserts
D. Temperate deciduous plants

had Uiadt & udsis & W1 WS Sar &
A. 3SUTRICTUT 817
B. HeTIER gid
C. Xfrea=

D. g#ENISoT gutgray g

66. Taj Mahal at Agra may be damaged by:
(a) Sulphur dioxide
(b) Chlorine
(c) Hydrogen
(d) Oxygen

HORT H dSTHSS &1 @ Gebdl & Jehdle:
A. TeHT STS3HTFATSS
B. eI
C. EBaad
D. 3iferdlste
67. Gas leaked in Bhopal tragedy:
(a) Methyl isocyanate
(b) Potassium isothoiocynate
(c) Ethyl isocyanate
(d) Sodium isothiocyanate

HaTer S A e g3 I
A. TR ssEETEAT
B. URR¥HA msaEEaT
C. Uiy« mEHEREAC
D. Aifsga meaifdaaEac ¢
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68. BOD is:
(a) A measure of the organic matter presents in water
(b) Usually less than COD

(c) Biochemical oxygen demand
(d) All of the above

dnd &

. Ul # HrdfAs uerd &1 v 3ury UEgd AT §
. 3THAAR W copD & &A &

g yafae Adedea & At

. 3WRh g

OO0 W >

69. BOD/COD ratio will always be:
(a) Equalto1
(b) Less than 1
(c) More than 1
(d) None of them

ST /AHIET eIUTd FHAT T
A 1 H WK
B. 1H & ¢
C. 19 3%

D. 3dH ¥ PIS 8l

70. Biochemical Oxygen Demand measures:
(a) Industrial pollution
(b) Air pollution
(c) Pollution capacity of effects
(d) Dissolved O, needed by microbes to decompose organic waste.

ST TEafA® ATFdeTd 6 ANT & 3U:

3rnfirs gguoT

. gy Uyl

UHTET hT UG UUT &THAT

Fafad FRX B FEfed d & fow Jemopst grr gierd o, #r 3mavaedr
gl &l

oo w >
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71. Excess fluoride in drinking water is likely to cause:
A. Blue baby syndrome
B. Fluorosis
C. Change in taste and odour
D. Intestinal irritation

i & gt J JTARE FaRss & FRUT @ hT U &:
A. & 9t g
B. FaRITAT
C. g 3R 71 & gRada
D. 3di # ol
72. Fluoride pollution mainly affects:
A. Kidney
B. Brain

C. Heart
D. Teeth

FIRISS UGUUT HET &U § YHTTIT T &
A. forsar
B. #ATEItH
C. figar

D. &d

73. Which of the following is a non-point source of water pollution?
A. Factories
B. Sewage treatment plants
C. Urban and suburban lands
D. All of the above

fArafaf@a & @ #a se uguer @1 R-fig da
A. BRI
B. ¥dal gIcde Tolie
C. A& 3R 3T A
D. U |

74. Septic tank is:
A. An aerobic attached growth treatment system
B. An aerobic suspended growth biological treatment system
C. An anaerobic attached growth biological treatment system
D. An anaerobic suspended growth treatment system
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Jfted & &
A. Th WIF Heldd gig 3UTR YuTrell
B. T Wifge Aeifad gig Sifae suar yorelr
C. 3aId Heldd ig Sifdeh IUAR YoTell
D. TaRlde fAdfad gfg 3uar gomelr

75. Disease caused by eating fish inhabiting mercury contaminated water is:

A. Bright’s disease
B. Hiroshima episode
C. Mina-mata disease
D. Osteosclerosis

AS W T RGN Ut i & @ arelt A &
A. STSCH a1
B. RAAAT gepor
C. #Har-Arar Jer
D. 3ifEcaraeRIfad

76. Which of the following is not a marine pollutant?
A. Oil
B. Plastics

C. Dissolved oxygen
D. All of the above

fAFfaf@d # @ Hia 91 v AL Uguh T8 &2
A. dd
B. Talli¥eah
C. gford 3iferdrate
D. 3WIh Tt

77. Noise is:
A. Loud sound
B. Sound of high frequency
C. Unwanted sound
D. Constant sound

IR &:

A. SR &1 3mars

B. 3= gy hr wafa
C. 3aifed «afa

D. SNAR <afa
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78. Sound becomes hazardous noise pollution at decibels:
A. Above 80
B. Above 30
C. Above 100
D. Above 120

$HigeT @ <l W afed Uguor oo Sl &
A.80 8 3
B. 30 ¥ 3W
C. 100 ¥ 3

D. 120 ¥ 3

79. Which of the following is a major source of thermal pollution in water bodies?
A. Sewage treatment plant
B. Solid waste disposal sites
C. Thermal power plant
D. All of the above

fArfaf@d & @ Pl ST ABRT & YA UGuoT H1 UH YHE T w2
A. EIdsT 309R §IF
B. 39 3ufE fAucrd Tya
C. ¥ UM Telic

D. 3WIp Y

80. The highest heating valve is of:
(a) Garbage
(b) Rubbish
(c) Hospital waste
(d) Industrial waste

eTH SATET 19 ITeAT e Bl & —

(@) I

(b) Tew

(c) AT bl vl
(d)  Trenfies FeT

81. The highest moisture content is in:
(a) Garbage
(b) Rubbish
(c) Hospital waste
(d) Agricultural waste

e 377k T wafed Wl 8 —
(a) F=T
(b) tera
(C) THqAT 1 T
(d) Ffv srafere
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82. Which of the following is a likely characteristic of hazardous waste?
(a) Ignitability
(b) Corrosivity
(c) Reactivity
(d) Any of the above
frfefad § & M |1 @t L 6l U g 9fad formrear 28—
(a) SrQfecidt
(b) T
(c) whafsram
(d) ST Tft
83. High level radioactive waste can be managed in which of the following ways?
(a) Open dumping
(b) Composting
(c) Incineration
(d) Dumping in sealed containers
o T et s st frfafad 8 @ fore aties & werfera foram ST Tk 2 —
(a) g SfuT
(b) @is
(c) S
(d) Hieg Hel 7 sfumgmr
84. Which of the following is a biodegradable organic chemical/substance?
(a) Plastics
(b) Oils
(c) Pesticides
(d) Garbage
frfefad & & s a1 U S et e e € -
(a) AR
(b) q«
(c) hIeATTh

GV S

85. Ozone day is observed on:

(a) January 03

(b) March 26

(c) November 10

(d) September 16
SIS feare g ST 2 —

(a) 3 S

(b) 26 9T

(c) 10 7aH

d) 16 faawsr
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86. This may be use as refrigerator:
(a) CFC
(b) Carbon
(c) Acids
(d) Ozone
I% USRSt & &9 H ST foraT ST &ehall & —
(a) €T
(b) e
(c) Tftrs
(d) ST
87. Which of the following is not a solution of global warming?
(a) Reducing fossil fuel consumption
(b) Planting more trees
(c) Deforestation
(d) None of the above
fafaftad & & o a1 Teftere arfif 1 qurem 7 | -
(a) STETTH AT @UA ol W HET
(b) 3frek U T
OEREIETH
(d) 7o & rg e
88. Study of trends in human population growth and prediction of future growth is called
(a) Demography
(b) Biography
(c) Kalography
(d) Psychology
T SHEEAT g § €I T ST s & feprar i sfersramoft st et S 2-
(a) U
OEIRIEIE
(c) AT
(d) TAfae

89. Population pyramids are useful to:
(a) Express the population growth rates
(b) Express the age-sex distribution
(c) Indicate the birth rates
(d) Indicate the death rates

SEEn ffie Swarf g 8 -
(a) SHEEAT JTE T I Toh A T
(b) TR AT feror 3Bt Wk i &
(c) S A 3fia wd &
(d) g A A+ &
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90. Because of deforestation, decreased transpiration leads to
(a) less cloud formation
(b) more cloud formation
(c) more water storage
(d) more oxygen
1 T HTE o FHROT AT FHH 2l ST 2 —
(a) T ATGA FAT
(b) AT STEA T
OREIEERICEIR )
(d) 3fereh AT

91. Major causes of extinction of different species includes
(a) habitat loss and over-hunting
(b) climate change and pollution
(c) deforestation
(d) all of above
T sreTfertt o forqg® 2 o @ e § e 8-
(a) THaT T T JHREH R 3T R
(b) STy TRE I g 5T
(c) &I T Ferg
(d) ST Tft
92. International organization IUCN is abbreviation of
(a) Internal Union Council for Natural gas
(b) International Union Council for Nature
(c) International Union for Conservation of Nature
(d) Internal United Council of Nations
ST e 11 T T b A 2
(a) 3 IfA FREARR g 9
(b) 3T FFEA FRTET BR AT TR
(c) STATHA FFTa FISTUA BN HHIIA 3HTH =
(d) 3 A FRfae B Twrg

93. Term used for species which is in danger of being extinct in near future is

(a) degradability
(b) extinct
(c) endangered
(d) global biodiversity
Tl % fere Joy 6 wreq ST fehe wiorsa o farq@ & ot @awr -
(a) SEifaferet
(b) feregw
(c) quI™
(d) e Stafafererar
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94. List prepared by International Union for Conservation of Nature and Natural
Resources for endangered species is classified as
(a) Brown List
(b) White List
(c) Black List
(d) Red List

EIT SSATTrt o foTT Tepfer 7 STepferes Tamert & GTarT o foTu STauisdia T g dR =it <l aefia feram
3

(a) T HA

(b) T%g gt

(©) aﬂ?ﬁ%‘@"r

(d) ot g

95. The species with thin population localised within restricted area is said to be
a) Rare
b) Threatened
c) Endangered
d) Vulnerable

wifererford &1 ok it Fm STTaTd aTeft SISAfoRiT 2t et STt & —
a) gﬁ*ﬂ
b) fagw
c) JuuTA
d) FHESR
96. The reason for certain animals getting endangered are
a) Hunting
b) Pollution of environment

c) Natural calamities
d) All of'these

FS AU o AT B HT H0T 8-
(a) TR T
(b) TATeoT Fg §oT
(c) STk SATTaTY
(d) ST Tft

97. The Red Data Book maintains a record of the
a) Plants and animals present in the whole world
b) Relationship between man and biosphere
c) Plants and animals which are known to be endangered
d) Forest wealth in the whole world
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T TTeT o Hfad et 8-
(a) fore & Wig qren SR STHaRT 1
(b) TS 37 Sanea o sfte Gaef st
(c) TN ST STERT h! THIT HAH T
(d) 9 g fram & o Fvaer s
98. Planting trees in a deforested land is known as
a) Afforestation
b) Deforestation
¢) Silviculture
d) Sericulture

e T heT aTett Y fF § JeARIIUreRT et SITaT & —
(a) ECiczul
(b) ERIEIETIH
(c) e fagme

(d) W FIel & ued
99. In a national park protection is given to
(a) The entire flora
(b) The entire fauna
(c) The plants and animals
(d) The entire ecosystem
Teh TS 39T 8 G Te1o7 feam sirar 2 —

(a) TEYOF LA
(b) Tt Sfrr
ORICEEESSIEENED)
(d) Trqot arfefeerfsht =

100. Difference between intensity of earthquake 3 and 6 is:

(A) 1000 times
(B) 300 times
(C) 200 times
(D) Cannot be measured
YHTT ok 3 3R 6 Y ToraT o sfrer e 2 —
(A) 1000 T[T
(B) 300 T
(C) 200 7T
(D) AT & ST Ehet
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Importance Instructions/ @g@qut v

For marking answers on OMR sheet, follow the detailed instructions given on the
OMR Sheet.

3. TH IR Y9 W I ¥l S| ! fafgd & & fau g99 | sifera e &1 rem wifsl
Use only Blue or Black ball point pen for marking on OMR.

OMR W fa= oH & fau sae et o1 el dfa @ig=e U9 1 & &He S
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